PIRANHA OFFROAD PRODUCTS P/N BTHO5

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

To Suit TOYOTA HILUX
NOT SUmBLE
&Q FOR SELFFIT

1KD-FTV 3.0L TDI V6 PETROL

If relay rbuII bar lights
fitted, re-fit to computer
bracket as above

PARTS INCLUDED WITH TRAY

1 X Tray
1 X Computer Bracket
2 X 25x6mm Panel Washer
2 XJ Bolt
1 X Special top Mount
1 X30mm M6 Bolt (Fig 1).
2 X Black Washer Bolt computer bracket to battery tray using 2 x M6 25mm counter
2 X'M6 Bolt Countersunk 25mm | sunk screws and wiz lock nuts (Fig. 1).
6 X M6 20mm Bolt Place battery tray in position, line up with 3 x captive nuts and 2 x OE
?ig‘;g’gsxer i holes. Secure with nuts, bolts and washers (Fig 2).
Place battery onto tray and secure top mount to guard using longer
bolt and black spacer washers
*On 2010 onwards models, a spacer washer may be required
under rear leg of tray.
Ensure, before closing the bonnet that all items fitted have

adequate clearance
RECOMMENDED ISOLATOR :

e ——

DBE140SF
or
DBE180-SX oct 2017

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTHO5

The cradle fits passenger side rear.

Unplug Diesel computer plugs and remove computer and bracket
from vehicle.
Refit diesel computer to new mounting bracket using 3 x OE screws




